Radius [pc]

ESO 452 0.01 0.1 1 10
- -II 1 |||||||| 1 IIIIIIII 1 IIIIIIII 1 I_
D, =6500 pc - .
~ —4 - ]
Red. x2 (vel. only)=0.06 g8 f \} ]
w i
M,=(3.84+1.97)-103 M, 6 B
M/L=1.76+0.96 =8 HrHHHH— it
R _1 92 _ Wg 0.5 :_ _:
y=1.92 pc, R,=0.10 pc S = .
N OfF--------— - - —
MF Slope=-0.21 =0 - .
2 _0.5 :|-IIIIIII 1 IIIIIIII 1 IIIIIIII 1 IIIIII|'|:
1 10 100 109

Radius [arcsec]
? 2 L IIIIIII I I IIIIIII I LI ? 2 | I IIIIIII I I IIIIIII I LI
o [ . O L -
n = - n - -
ERENS 1 g15F 3
= 1 = L f :
. 1 -4 . 1F =
gk 4 1 a4 -
n N N n N .
© 0.5 pM 4 © 05 =
D ] © 0 Eb
£02F 4.8 02F =
, OF-—-—-———f--—-- 1, 0fF-------—4--—————
>-0.2 4> -02F 3
—004 :_I 1 IIIIIII 1 1 I“IIIII 1 1 IIII:- —0.4 :_I 1 IIIIIII 1 1 IIIIIII 1 1 IIII:-
10 100 10° 10 100 10°

Radius [arcsec]

Radius [arcsec]



